103-20 000 0o

oo ogooooon oo0ooov/oo 2127 /VGR5052
oo0o/000 oo /3 Oo00oog/o0 (O0)567 /B407
googao oo oo oo

0000 /0000 (000 /00 oo0Oo/0000 oo
oo0/00/00 O0o0o0o0obo/000000000 /1010

goooood

AJO0O0O0DOODOOoOooooooboo

0o obobbodooooob bbb ooLboboD

200 0boodoodoobobobbooooooob bbb bbLbD
pboboobobodooooboobobbbdoooooobobbbdooooubbobbooo
A0000DoobOoboooooooboboobobbooooon

BUOUUUUOUOOUOLOOLOOuouoooon

lLobodoogooobobbouoooon

200 0o ob bbb b bbb b bbb b
HEN

pbobobodoooouobbobobbooo

A000D0oODbo0oooooobobobbooooon
subbbboooooobobbuoooooooboobboooooobboobbboooooobLobD
oo

el uouooooobobboooooon

robooboouoooon

g.uoobopoboooooobbobbboooooobobbbbooooon
o.obbbbUooooubbbobbooo

oogobbooboogd

O

cuoodgouobobbbuooooon
lobodgooouoboobbbogooouoboobbooooooubobbbooooooooboo
20000000 oooobobobbooooooobobobbodad

bbb bbbbooooon

O

gooooo

1.00000ooobbobobogoo

200000000 oobon

pbobobbougoooooobbodod

gooo
Luodgggooboo




2000000000
.gonboobooooboon
4.00000000

5. 00000
6.00douononon
0o0ooooad

goooooood
goooobod
goboboobbodooooooboboo

goobbbbbouooooobobbobboodo
‘DDDDDDDDDDDDDDDD
‘DDDDDDDDDDDDDDDDDD
gobbobbouoooogbobbobboodo
‘DDDDDDDDDDDDDDDDDDDDD
‘DDDDDDDDDDDDDDDDDDD
goobbobbododd
‘DDDDDDDDDDDDD
goobooooodd




gooon

goooboo O0%) O0O0O0OO0ODO@mObOO gooo goobobobbo ooddg booo
0 Al ) HEN goon HEN
uBl [OC=B*A
U
goboobod 20 1.0000o0ogonb booboo 000:25% 0 0J: 100 20
goooood gooooood OO0D00D:25%
HEN 2000000000 O000O:25%
gooooo O0O00O:25%
. pboobooboooga
gobooboood
gobobod 20 1.0o000gogon boooo 0 00:25% 0 0J: 100 20
gobooobod gooooo 0000 :25%
goobo 2000000000 O000:25%
gooooobood O0O00O:25%
. boobooboogo
gooooood
A000DOODO0Od
goboobooogd
0
sUbbbbougg
goooobooogd
goooobod 20 Lggggoooon gooo 000:25% 00O : 100 20
goooobod gooooo OO000D0:25%
goooobod 2000000000 OO0O00:25%
gooobooodad OO00:25%
gobooboogdad
0]
. ooooboogo
goooobooogd
goooood
A000DDOODOO0
gobooboooad
H
sUbbobboogd
gobooboogdd
O
goooobod 20 Lggogooooobl gooo 000:25% 0 0O : 100 20
goooobod gooooo OO000D0:25%
goooboo 2000000000 O0O00:25%
gooobooodad OO00:25%

gobooboogdad
0]

. ooooboogo
guooooobood
gooooon
A000000000

M QM



goooooo 20 1.0000oogonb boboo 00 0:25% 0 0O: 100 20

gobooo 00 Oo0OoOo0o:25%
2000000000 O0O00O:25%
oo O0O00O:25%
G gooboooogd
H

A0000O0ODOO0d
goboooboood
sUbbbbougg
goboobooogd
HEN

godd

Ooogo:25%
000:25%
UoOo00:25%
UoOo0:25%

0000 (hO0obObOo0obooboboooboobboooboon)

goon HEN

goon goon goon

godd

I LR
1 D000 &U000O00@OO0OO0ODOOOOODOO) OO0
2 oodn HRERERE
3 HRERERE oood
4 ooon HRERERE
5 HRERERE oood
6 ooon HRERERE
7 ooono oood
8 ooon HRERERE
9 ooono oood
10 0000 HRERERE
11 0000 oood



12
13
14
15
16
17
18

good
goon
goog
goon
goog
goon
goog

goon
goon
goon
goon
goon
goon
goon



